

Maths 1.3.21
Do as many of the following as you can. Don’t worry if you can’t do all of them.
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Challenge
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b) Kim's tower is 300 mm tall.

How many cubes does she use?

Kim uses cubes.
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© complete the bar models.

a) 9 o
b) d) mm
T
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Examples
LENGTH
10mm = 1cm
20mm = 2cm
30mm = 3cm
and 50 on

100cm = 1m
200cm = 2m
300cm = 3m
and so on

1000m = 1km
2000m = 2km
3000m = 3km
and so on

WEIGHT
1000g = Tk
2000g = 2kg
30009 = 3kg
and soon

CAPACITY.
1000 ml = 1 litre
2000 m = 2 ltres

3000mi = 3 litres
and soon
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Copy and complete.
© 9000m =[_Jum
@ s litves = [_Jml

© 700cm = [Jm

O ko=l

© 100mm =["Jem
0 sm=[em

@ 3km=[]m
© 80009 =[]kg




image1.png
@ here ore 10 millimetres (mm) in 1 centimetre (cm).

Use the bar models to complete the sentences.

* ===

There are mm in 3 cm.
b)
There are mmin 7 cm.
9
10mm | 10mm [ 10mm [ 10 mm

There are 40 mmiin| |em.
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@ Voteh the equivalent lengths.

300mm | | 13mm 31mm | [3cm0mm| [3cm3mm|
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@ +ow long are the saisors?

The scissors are [ | em and[ ] mm long.

‘The scissors are mm long.
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Measure them and complete the table.
One has been done for you.

toy car 9 cm b mm 96 mm
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@ Filip and Kim are building towers using cubes.
Each cube is 3 m high.

) Filip uses 6 cubes.
How tall is Filip's tower?

Give your answer in millimetres.

Filp's tower is m tall.
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